
SAP ABAP table JHIFK1S {IS-M: Settlement Document - Customer Hdr Fields -Interface}

JHIFK1S

SFAKN [CHAR (10)]

BANKS [CHAR (3)]

FKART [CHAR (4)]

FKTYP [CHAR (1)]

INCO1 [CHAR (3)]

KURST [CHAR (4)]

LAND1 [CHAR (3)]

REGIO [CHAR (3)]

VKORG [CHAR (4)]

UEBAR [CHAR (1)]

WAERK [CUKY (5)]

ZLSCH [CHAR (1)]

MSCHL [CHAR (1)]

MANSP [CHAR (1)]

NATIO [CHAR (1)]

ADRNR [CHAR (10)]

CCINS [CHAR (4)]

CCNUM [CHAR (25)]

CCACT [CHAR (10)]

CCWAE [CUKY (5)]

ADRC

CLIENT [CLNT (3)]

ADDRNUMBER [CHAR (10)]

DATE_FROM [DATS (8)]

NATION [CHAR (1)]

 JHIFK1S-ADRNR = ADRC-ADDRNUMBER 
0..N

1

JHTFK

MANDT [CLNT (3)]

VBELN [CHAR (10)]

 JHIFK1S-SFAKN = JHTFK-VBELN 
0..N

{0,1}

SKA1

MANDT [CLNT (3)]

KTOPL [CHAR (4)]

SAKNR [CHAR (10)]

 JHIFK1S-CCACT = SKA1-SAKNR 

0..N

1

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 JHIFK1S-BANKS = T005-LAND1 

0..N

1

 JHIFK1S-LAND1 = T005-LAND1 0..N

1

T005S

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

BLAND [CHAR (3)]

 JHIFK1S-REGIO = T005S-BLAND 
0..N

1

T040

MANDT [CLNT (3)]

MSCHL [CHAR (1)]

 JHIFK1S-MSCHL = T040-MSCHL 
0..N

1

T040S

MANDT [CLNT (3)]

MANSP [CHAR (1)]
 JHIFK1S-MANSP = T040S-MANSP 0..N

1

T042Z

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

ZLSCH [CHAR (1)]
 JHIFK1S-ZLSCH = T042Z-ZLSCH 0..N

1
TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 JHIFK1S-CCWAE = TCURC-WAERS 0..N
1  JHIFK1S-WAERK = TCURC-WAERS 0..N1

TCURV

MANDT [CLNT (3)]

KURST [CHAR (4)]

 JHIFK1S-KURST = TCURV-KURST 

0..N

1

TINC

MANDT [CLNT (3)]

INCO1 [CHAR (3)]

 JHIFK1S-INCO1 = TINC-INCO1 

0..N

1

TJH05

MANDT [CLNT (3)]

FKART [CHAR (4)]

 JHIFK1S-FKART = TJH05-FKART 

0..N

1

TJH19

MANDT [CLNT (3)]

FKTYP [CHAR (1)]

 JHIFK1S-FKTYP = TJH19-FKTYP 

0..N

1

TJH41

MANDT [CLNT (3)]

UEBAR [CHAR (1)]

 JHIFK1S-UEBAR = TJH41-UEBAR 

0..N

1

TSAV

NATIO [CHAR (1)]

 JHIFK1S-NATIO = TSAV-NATIO 

0..N

1

TVCIN

MANDT [CLNT (3)]

CCINS [CHAR (4)]

 JHIFK1S-CCINS = TVCIN-CCINS 

0..N

1

TVKO

MANDT [CLNT (3)]

VKORG [CHAR (4)]

 JHIFK1S-VKORG = TVKO-VKORG 

0..N

1

VCNUM

MANDT [CLNT (3)]

CCINS [CHAR (4)]

CCNUM [CHAR (25)]

 JHIFK1S-CCNUM = VCNUM-CCNUM 

0..N

1


